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P 14.8-1 Using Laplace transforms, find the response iy (¢}
for 1 = 0 for the circuit of Figure P 14.8-1.
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Figure P 14.8-1
P 14.8-2  Using Laplace transforms, find the response i (1)
for t = 0 for the circuit of Figure P 14.8-2,
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Figure P 14.8-2

P 14.8-3 Using Laplace transforms, find the response v.{f)
for ¢ = 0 for the circuit of Figure P 14.8-3.
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Figure P 14.8-3

P [4.8-4 Using Laplace transforms, find the response v,(f)
for 1 > 0 for the circuit of Figure P 14.3-4.
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Figure P 14.8-4
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P 14.8-5 Using Laplace transforms, find the response #{t) for
¢ = O for the circuit of Figure P 14.8-5 when v, = 6™ u(t) V.
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Figure P 14.8-5

v (H)=44/3 e -9 +(1/3)e™ V

P 14.8-7 The motor circuit for driving the snorkel showy in
Figure P 14.8-7a is shown in Figure P 14.8-7h. Find the M-
tor current ,(s) when the initial conditions are {;{07) = 2 o
and i,(07) = 3 A, Determine ¢,(t) and sketch it for 10 secongs,

[Does the motor current smoothly drive the snorkel?
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Figure P 14.8-7 Motor drive circuit for snorkel device.
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P 149-1 Consider the circuit of Figure P 14.9-1, where the
combination of R, and C, represents the input of an oscillos

scope. The combination of R, and C, is added to the probe of

the oscilloscope to shape the response vy(1) so that it will equal

v,(t] as closely as possible. Find the necessary relationship for

the resistors and capacitors so that v, = av, where a is a con- .
stant,

Hint: Find the transfer function Vy(s)/V,(5). Choose R, and €}

s0 that the transfer function does not depend on s.

RC, =R,
P 14.9-2 Consider the circuit shown in Figure P 14.9-2, Show T
that by proper choice of L, the input impedance Z = l";f.-r},-“.’,[;] . R
can be made independent of 5. What value of L satisfies this Vits) C,,)
condition? What is the value of Z when it is independent of 57 1% &
c',[ ;

Figure P 14.9-2

|L=Rlc then Z=R|

R
P 14.9-3 A bridged-T circuit is often used as a filter and ¥ M
shown in Figure P 14,9-3, Show that the twransfer function © C L
the circuirt is - "'_| F""‘""—"‘
Vouls) 1+ (2R, + Ry)Cs + R,R,Cs* R,

Vi (s) | + 2R,Cs + RR.C*¢*




